September - 2010, Subject: Maths, Class - VI

Time: 3 Hirs, M.Marks: 10

Mote : Tescher should provide required material for activity. Give exira 20 min, for activity,

(Purt-I}

Mote: All questions are compulsery. Ench question carries three marks.
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il The smallest whole number is e &
i) Give the opposite of ‘Increase in population’.
i  Write the predecessor of the number 20,

Fimd the sum by suitable rearrangenent:
447+80T+553,

Fimd the absolue value of - 31,
Write first five maltiples of 12,
Express in the simplest foem the rtio of 48 m. 0 28 m.
Express in the EITGHEIEHL form the rtio of 6 kg, to 400 g,

Convert 1.5 into percent.

Write the following using numbers, literals and the arithmetical operations: The sum of the number
O amd x,

Wrrite LHS and BHS of ihe equation;
2y-8 = y+4d

Mark some poinis on your paper amd name them as A, B, C eic,
OR
How many straight lines can be drawn through a point in a plane?

Using & ruler. construct a line segment of length 3 cm.

iPari- 1)
All guestions are compubsory. Each question carries 4 marks,
Rearrange suitably and muliiply:
2| §75=30
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Subtract the first integer from the second:
9,4

Check whether the numbser 10826 15 divisible by 11
Determine whether the numbers 3, 4, 9, 12 are in Proportion or ol

Find the valee of 25% of Rs, B0,
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Q.17

Q.18

Identify each of the following expressions as monomial, binomial or a trinomial.
i) Sxve i) Sxy+e i) Fxtve iv) Sx+2yt+a

Solve the equation:
y+8=9
OR
2y +3=y+d4

Some lines are shown in each of the figure given below. Classifv them into intersecting, parallel
or conncurrent lines:

+ K LD

Q.19

.20

(i} (i} (iii} {iv)

Draw a line segment AB = 7 cm. cut a line segment AC= 3em. from it. Measure the line
segment CB,

Give two examples of each from your environment:

i) Intersecting lines
i) Parallel lines.

(Part- I11)

All questions are compulsory. Each gquestion carries 6 marks.

0.21

Q.22

0.23

Q.24

Find the value of: 352+ (370 =37)
Simplify: 18+ {10-5+{6-2)}

If the cost of 2 dozens of eggs is Rs. 36. Find the cost of 16 eggs.

R
Ruchi deposited Rs. 10, 000 in her saving bank account. Bank pavs interest at the rate of 6% p.a.
How much interest will she get after 2 yrs?

Find the sum of:
2=y + 3xy, x+2xy and Iy+xy
OR
A radio set was purchased for Rs. 560 and sold for Rs. 650 find profit or loss.
Find LCM of 63, 84, 110 by common division method.
OR
By activity show that sum of all angles of a triangle is 1807
(Required Material : Glazed paper, Scissor, Fevicol gum, Geometry box)
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